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== PIPN -

ef Al 5,638 1,035 812 1,847 33.3%
s & =2 3,613 632 498 1,130 31.3%
= & =2 291 67 84 151 51.9%
g o = 260 46 60 106 40.7%
= =2 1,374 290 170 460 33.5%

g Al 697,324 | 1,139,542 718,111 | 1,034,800 3.0 A9.2
s & =2 302,669 633,149 389,898 632,153 28.8 AN0.2
= & =2 13,342 101,825 12,822 67,152 A3.9 A34.1
g o = 206,687 66,695 175,112 45,542 A15.3 A31.7
= ¢ = 174,627 337,873 140,279 289,953 N19.7 N14.2

g Al 258,430 590,264 306,403 811,857 18.6 37.5
s & =2 141,309 389,248 154,720 498,087 9.5 28.0
= & = 16,261 83,636 17,269 83,772 6.2 0.2
g = 93,321 43,278 100,210 60,053 7.4 38.8
= & = 7,539 74,104 34,205 169,945 353.7 129.3




S ¢t = 302,669 633,149 389,898 632,153 28.8 A0.2
MoA R 7,439 31,812 8,296 32,310 11.5 1.6
2PN 5,619 19,139 6,177 21,196 9.9 10.7
E0LE 167 234 167 394 A0.1 68.6
oz 2|3t 193 499 315 803 63.1 61.0
bH = 120 71 281 284 135.2 298.1
=P 25 97 2 12 N93.4 N8T7.3

B 37,614 46,451 41,520 61,404 10.4 32.2
il 33 65 49 103 48.6 58.5
S0t 9 28 68 167 688.6 488.2
S K 118 407 11 384 ANb.8 Nb.6
press 14 43 14 61 Nb5.5 41.4

st 8 = 110 5] 21 263 A80.6 ANT2.6
e 65 421 - - A100 A100
20 5 31 - - A100 A100
el 12 212 12 217 A0.4 2.4
= & =2 13,342 101,825 12,822 67,152 A3.9 A34.1
A D7 450 3,107 427 3,918 VANSW 26.1
HXI DI 303 1,960 248 1,523 A18.1 N22.3
S0l 245 895 308 697 25.8 N22.1
g o = 206,687 66,695 175,112 45,542 A15.3 A31.7
DAkE 3 63 4 45 25.3 N28.8
HOHA 11 165 7 60 A36.1 NB3.6
o=t 20 203 7 106 NB4.T NAT.T
= 4 38 6 54 72.4 41.3

= ¢t = 174,627 337,873 140,279 289,953 A19.7 A14.2
= 3,778 24,412 996 16,979 ANT3.6 N30.4
20 17,560 18,661 6,126 14,887 NB5.1 N20.2
014 1,358 5,124 758 3,367 N44.2 N34.3
&3 1,182 2,477 931 2,046 N21.2 A1T.4
Ay 1,851 2,233 251 429 N86.5 A80.8




S ¢t = 141,309 389,248 154,720 498,087 9.5 28.0
N 2,815 26,405 3,434 29,556 22.0 11.9
2 X 489 1,416 726 2,291 48.6 61.8
E0LE 1,154 1,664 1,276 2,222 10.6 33.6
o= 2|3t 82 221 67 195 A18.5 A11.5
BH = 20 16 5 4 NT75.3 AT1.8
=P 44 426 29 187 N34.9 N5B.2

o A 5 3,648 11,709 4,846 19,756 32.8 68.7
il 967 2,266 1,498 3,494 55.0 54.2
S50t 18 49 16 58 A11.8 18.1
S K 1,403 4,324 1,320 4,101 Ab.9 VANS W
Is 25 97 31 12 22.2 15.0

3t 3 = 466 4,096 390 3,543 A16.3 A13.5
SRE 6 74 32 310 471.4 317.3

Z 0l 27 104 22 118 AN1T7.5 12.9
el 203 2,038 163 1,785 N19.7 N12.4
s & =2 16,261 83,636 17,269 83,772 6.2 0.2
A DI 1,804 13,893 1,142 6,879 N36.7 A50.5
HX DI 322 1,372 209 953 A35 A30.5
S0l 3,832 5,852 4,481 5,103 16.9 N12.8
g o = 93,321 43,278 100,210 60,053 7.4 38.8
DAkE 9 42 - 4 N96.7 A91.2
HOHA 3 48 3 111 N24.6 132.0
= 1 13 27 630 2,876.8 4,700.1
= 3 24 4 33 50.9 37.2

= & = 7,539 74,104 34,205 169,945 353.7 129.3
= 1,990 44 111 4,422 61,803 122.2 40.1
20 1,276 2,273 2,360 5,364 84.9 136.0
01 313 1,762 464 2,202 48.1 25.0
&3 479 631 1,147 893 139.2 41.5
Ay 102 136 2,806 2,582 2,648.1 1,797.5




